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APPENDIX 15: OPERATIONAL ITEM
DISPLACEMENTS

DISPLACEMENT SUMMARY

Table 15-1. Displacement Summary

Number of Sum of Number of Number of
Flagged Sum of p-value  Average Easier Harder
Grade Iltems Displ changes Displ SD Displ ltems ltems
4 2 -0.08 0.03 -0.04 0.46 1 1
8 0 - - - - - -
10 0 - - - - - -
GRADE 4
Table 15-2. Grade 4—Item Analysis—Multiple-Choice Items
Proportion
Year Obj.
Item |(Status)' (Rept Cat)’ N p-value A B C D Omit
1 [2013(OP) 1 (1.A.1.1) 9315 0.67 0.04 022 067 0.07 0.00
2011 (OP) 9507 0.58 0.05 028 058 0.09 0.00
2 |2013(OP) 4 (4.D.2.2) | 9315 0.70 0.07 070 014 0.08 0.00
2011 (OP) 9507 0.76 0.06 076 012 0.06 0.00

Table 15-3. Grade 4—Displacement from Banked Administration—Maultiple-Choice Items

Year Seq p-value Reason for
Item | (Status)' Change’ Logit Displ* change® Change®
1 2013 (OP) 0 0.10 -0.50 0.09
2011 (OP) 0.60
2 2013 (OP) 0 -0.04 0.42 -0.06
2011 (OP) -0.46

! Each item has a row for the current year and a row for the year in which the item difficulty was banked. OP means
that the item was operational and FT means that the item was field tested that year.

? Objectives names are provided in Appendix 1.

? A positive number means that the current year’s sequence was earlier than the banked sequence and a negative
number means that the current year’s sequence was later than the banked sequence.

* A positive value indicates that the item was more difficult in the current year and a negative value indicates that the
item was easier in the current year.

> A negative value indicates that the item was more difficult in the current year and a positive value indicates that the
item was easier in the current year.

% A reason is only included where applicable.
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